KANSAS CORPORATION COMMISSION
OIL & GAS CONSERVATION DIVISION
Form Must Be Typed
Form must be Signed
All blanks must be Filled

### WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 34138	API No. 15 - 075-20856 - 6000
Name: Hondo Energy Partners, LLC	Spot Description:
Address 1: 5472 S. Ventura Court	NE_SE_NW_SE_Sec. 6 Twp. 26 S. R. 41 ☐ East  West
Address 2:	1,770 Feet from North / South Line of Section
City: Centennial State: CO Zip: 80015 + 2629	. 1,580 Feet from ▼ East / □ West Line of Section
Contact Person:James Rowland	Footages Calculated from Nearest Outside Section Corner:
Phone: ( 303 ) 859-0615	□ NE □ NW □ SE □ SW
CONTRACTOR: License #_33784	County: Hamilton
Trinidad Drilling LB	Lease Name: Melissa Ann Well #: 1
Mr. Tire Undeigle	Field Name: Wildcat
•	Producing Formation: None
Purchaser:	Elevation: Ground: 3449' Kelly Bushing: 3460'
Designate Type of Completion:	
✓ New Well	Total Depth: 6191' KB Plug Back Total Depth: 1787' KB -
Oil WSW SWD SIOW	Amount of Surface Pipe Set and Cemented at: 1787' KB Feet
☐ Gas 🗸 D&A ☐ ENHR ☐ SIGW	Multiple Stage Cementing Collar Used?
☐ OG ☐ GSW ☐ Temp. Abd.	If yes, show depth set: Feet
CM (Coal Bed Methane)	If Alternate II completion, cement circulated from:
Cathodic Other (Core, Expl., etc.):	feet depth to: w/ sx cmt.
If Workover/Re-entry: Old Well Info as follows:	
Operator:	Drilling Fluid Management Plan
Well Name:	(Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	Chloride content: 3600 ppm Fluid volume: 188 bbls
☐ Deepening ☐ Re-perf. ☐ Conv. to ENHR ☐ Conv. to SWD	Dewatering method used:
Conv. to GSW	
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name:
Dual Completion Permit #:	Lease Name: License #:
SWD Permit#:	Quarter Sec TwpS. R
☐ ENHR         Permit #:           ☐ GSW         Permit #:	County: Permit #:RECEIVED
9/23/2011 10/02/2011 10/04/2011	EED 3:7 000
Spud Date or Date Reached TD Completion Date or	FEB 2 7, 201
Recompletion Date Recompletion Date	VCC W//O/ U:
of side two of this form will be held confidential for a period of 12 months if rec	quested in writing and submitted with the form (see rule 82-3-107 for confiden- ell report shall be attached with this form. ALL CEMENTING TICKETS MUST
AFFIDAVIT	KCC Office Use ONLY
I am the affiant and I hereby certify that all requirements of the statutes, rules and lations promulgated to regulate the oil and gas industry have been fully complied	d with
and the statements herein are complete and correct to the best of my knowled	Confidential Release Date:
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	Wireline Log Received
Signature:	Geologist Report Received
Title: Managing Partner Date: October 20, 2011	ALT VI UIC Distribution PLA  ALT VI UII UIII Approved by: Date: 3612

#### Side Two

<del>《</del>			572					
Operator Name: Hono	lo Energy Partn	ers, LLC	Lease i	Name: _	Melissa Ann		Well #:1_	
ec. 6 Twp.26	\$. R. 41	☐ East	County	: Ham	ilton			
me tool open and close	ed, flowing and shu if gas to surface te	d base of formations per t-in pressures, whether s st, along with final chart well site report.	shut-in press	sure rea	ched static level	, hydrostatic pressi	ures, bottom	hole temperature, flu
Orill Stem Tests Taken (Attach Additional Sh	eets)	☐ Yes 🗸 No		<b>⊘</b> L	og Formatio	on (Top), Depth and	i Datum	Sample
Samples Sent to Geolog	gical Survey	✓ Yes		Nam	e Group	;	Top 2337' KB	Datum +1123'
ores Taken		Yes V No			il Grove		2565' KB	+887'
lectric Log Run		✓ Yes  No		Topek			3432' KB	+28'
lectric Log Submitted I (If no, Submit Copy)	Electronically	Yes V No		Lansir			3872' KB	-412'
(п по, завит сору)				Morro	_	,	5000' KB	-1540'
ist All E. Logs Run:					enevieve		5401' KB	-1901'
					HEVIEVE		6102' KB	-2642'
		0.0010		Viola				2012
		CASING Report all strings set-	RECORD	√ Ne urface, inte		tion, etc.		
Purpose of String	Size Hole	Size Casing	Weig	ght	Setting	Type of	# Sacks	Type and Percent
	Drilled Drilled	Set (In O.D.)	Lbs./	rt.	Depth	Cement	Used 575	Additives  6% Gel, 3% CC, 1/4#/sk. Flor
Surface	12-1/4" O.D.	8-5/8" O.D.	24		1787' KB	65/35 Pozmix		
				-		+ Class A	150	3% Gel, 3% CC
		ABBITION	OFMENT		JEEZE DECORD		!	
Purpose:	Depth			* **	JEEZE RECORD			_
Perforate Protect Casing Plug Back TD Plug Off Zone	Top Bottom	Type of Cement	.# Sacks	Used		Type and Po	ercent Additive	S
Shots Per Foot		ON RECORD - Bridge Plu Footage of Each Interval Pe				acture, Shot, Cement Amount and Kind of Mat		Depth
	0:	Cot Ab	De steer A		Liner Pun			
TUBING RECORD:	Size:	Set At:	Packer A	ıt.	Liner Run:	Yes No		
Date of First, Resumed P	roduction, SWD or EN	HR. Producing Me	thod:	ng [	Gas Lift	Other (Explain)		
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf	Wat	ter f	Bbls. G	Sas-Oil Ratio	Gravity
DISPOSITIO	N OF GAS:		METHOD OF	COMPL	ETION:		PRODUCT	ION INTERVAL:
Vented Sold	Used on Lease	Open Hole Other (Specify)	Perf.	Duall (Submit		ommingled bmit ACO-4)		RECEIVE

Mail to: KCC - Conservation Division, 130 S. Market - Room 2078, Wichita, Kansas 67202

FEB 2 7 2012

# HONDO ENERGY PARTNERSD, LLC MELISSA ANN #1 GEOLOGIC TOPS/INTERVALS

14-Oct-11

GR: 3449' GR TO KB: 11' KB: 3460'

TOP/INTERVAL	PROJECTED DEPTH	PROJECTED DEPTH		ACTUAL DEPTH		
	SUBSEA	КВ	SUBSEA	КВ		
BLAINE SALT BED	"+2174'	1286'				
CEDAR HILLS SANDSTONE	"+1904' to +1797'	1566' to 1663'		₹.		
CHASE GROUP	"+1128'	2332'	"+1123'	2337'	"-5'	
HERRINGTON LIMESTONE	"+1128' to +1121'	2332' to 2339'	"+1123' to 1118'	2337' to 2342'	"-5'	
COUNCIL GROVE GROUP	"+895'	2565'	"+887'	2573'	"-8'	
RED SHALE BED	"+133'	3327'	"+102'	3358'	"-31'	
TOPEKA	"+62'	3398'	"+28'	3432'	"-34'	
TOPEKA C LIMESTONE	"+22'	3438'	"-12'	3472'	"-34'	
HEEBNER SHALE	"-270'	3730'	"-307'	3767'	"-37'	
LANSING	"-355'	3815'	"-412'	3872'	"-57'	
MARMATON	"-889'	4349'	"-908'	4368'	"-19'	
CHEROKEE	"-1063'	4523'	"-1072'	4532'	"-9'	
ATOKA	"-1321'	4781'	"-1328'	4788'	"-7'	
MORROW	"-1515'	4975'	"-1540'	5000'	"-25'	
MORROW A SANDSTONE	"-1549' to -1571'	5009' to 5031'	NOT PRESENT			
MORROW B SANDSTONE	"-1606' to -1633'	5066' to 5093'	NOT PRESENT			
MORROW C SANDSTONE	"-1755' to -1777'	5215' to 5237'	"-1784'	5244'	"-29'	
L. MORROW SANDSTONE	"-1820' to -1875'	5280' to 5331'	"-1839' to -1901'	5299' to 5361'	"-19'	
ST. GENEVIEVE LIMESTONE	"-1873'	5333'	"-1901'	5361'	"-28'	
ST. LOUIS LIMESTONE	"-1918;	5378'	"-1941'	5401'	"-23'	
VIOLA LIMESTONE	"-2611'	6071'	"-2642	6102'	"-31'	
SIMPSON LIMESTONE	"-2781!	6241'			*	
ARBUCKLE	"-2823'	6283'				
TD	"-3020	6480'	"-2731	6191'		

RECEIVED
FEB 2.7: 2012
KCC WICHITA



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Fax:

(817) 546-7282 (817) 246-3361

### INVOICE

Invoice Number: 128633

Invoice Date: Sep 24, 2011

Page:

1

### BILTO

Hondo Energy 5472 S Ventura Dt. Centennial, CO 80015

Customer, ID	WelliName/#or/Customer/P.O.	Paymen	vierms
Hondo	Melissa Ann #1	Net 30	Days
.doblecation	Camp Location	Service Date, 3	Due Date
KS1-01	Liberal	Sep 24, 2011	10/24/11

Quantity	Ltem (1888)	Description: Description		
150.00	MAT	Class A Common	16.25	2,437.50
4.00	MAT	Gel	21.25	85.00
21.00	MAT	Chloride	58.20	1,222.20
575.00	MAT	Lightweight	15.00	8,625.00
750.00	SER	Handling	2.25	1,687.50
120.00	SER	Mileage 750 sx @.11 per sk per mi	82.50	9,900.00
1.00	SER	Surface	1,925.00	1,925.00
240.00	SER	Pump Truck Mileage	7.00	1,680.00
1.00	SER	Manifold & Head Rental	200.00	200.00
240.00	SER	Light Vehicle Mileage	4.00	960.00
1.00	EQP	8.5/8 Top Plug	112.00	112.00
1.00	EQP	8.5/8 Guide Shoe	394.00	394.00
1.00	EQP	8.5/8 AFU	382.00	382.00
2.00	EQP	8.5/8 Basket	478.00	956.00
5.00	EQP	8.5/8 Centralizer	64.00	320.00
1.00	CEMENTER	Bob Ryan		
1.00	EQUIP OPER	Cesar Pavia		
1.00	OPER ASSIST	Ruben Chaves		
		Subtotal		30,886.20

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE Oct 19,2011

1,947.16
1,947.16
1,060.96
0,886.20

RECEIVED FEB 2 7 2012 KCC WICHITA

# ALLIED CEMENTING CO., LLC. 036539

EMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	manus va = 1	SER	VICE POINT: 	eac Ks
ATE 9-24-11 SEC TWP. RANGE 414	CALLED OUT	ON LOCATION	JOB START	JOB-FINISH S'30AL
154-4-11 6 46 41W			COUNTY	STATE
ASE ANN WELL# LOCATION 10,	7 5 cg Sys	2. 2. 1.5	from Tois	15-
DOR (EW) Circle one) 4/2 (1)	5-		<u>.</u> .	
To a contract of the second	OWNER	AME		
PEOFJOB VE SAFACE	OWNER -	- FI ME		
OLE SIZE 1214 T.D. 1790	CEMENT		. / ' /	
ASING SIZE 88 24 DEPTH 1790	AMOUNT C	RDERED 57	5 65/35	68 GEC
JBING SIZE DEPTH	3%cc	THE SEA	1	
RILL PIPE DEPTH	150	A 3% CC	2% GE	
OOL DEPTH	<del></del>	1/2	1, 25	1 111-5
RES. MAX 1000 /S/ MINIMUM Ø	_ COMMON_	<u>/3 0</u>	_@/6	2431
IEAS. LINE SHOE JOINT Y 2	_ POZMIX _	<del>// /</del>	<sup>@</sup> - <del>-27. 2.5</del>	
EMENT LEFT IN CSG. (/ L	_ GEL _	YSK GEL	-@ <i></i>	- <del>- 1829 2</del> 0
ERFS.	_ CHLORIDE	2/500	_@SP\ <del>=</del>	-/-/-
ISPLACEMENT /// BBL	ASC		@	
EQUIPMENT.	مسترسم	/==	@ <del></del>	- C/750
	2/3_	CIF	_ <u>%</u>	3020
UMPTRUCK CEMENTER 130B			@	
372 HELPER CEASAL				
ULK TRUCK			@	
DRIVER (SI)				
ULK TRUCK				
DRIVER	- HANDLING	750	@7 25	168750
	MILEAGE		//	990000
REMARKS:		-19 11/10	TOTA	12391720
	<del></del>			77-
That Way		SER	/ICE	
- JAPACP J CO	DEPTH OF	JOB	17	70'
		ICK CHARGE		192500
CIRC CUI TO SURFACE	_ EXTRA FO			
	MILEAGE	240	@ <i>7°</i> ~	1650
<u> </u>	- MANIFOL	D+HEAD	@ <i>Zoo~</i> _	2000
•	TUE	m: 240	@ <i>\Sigma_000</i>	_ 460
// 1 1			@	
CHARGE TO: HONDO ENERGY				(1-2- /as
			TOTA	17/02
STREET	<del></del>			•
CITYSTATEZIP	<del></del>	71 TIO 6 FT O	AC EQUIDAT	- NIT
	25%	PLUG & FLO	AI EQUIPME	214 1
	8 18			2 4-2/1
	1- 74f	Rus	@	- 11/2
	1-60	ILE Shot	@	- <del>399 -</del>
To Allied Cementing Co., LLC.	<del>[- [4]</del>		@ <i></i>	- <del>80/ ~</del>
You are hereby requested to rent cementing equipment	<u> </u>	(E)	@ <i>\!</i>	<u> </u>
nd furnish cementer and helper(s) to assist owner or	0-(EN	1 HKITELS	@ <i>_&amp;&amp;</i> ~	
contractor to do work as is listed. The above work wa	s			2111100
lone to satisfaction and supervision of owner agent or			TOTA	10467
contractor. I have read and understand the "GENERA	L			
ERMS AND CONDITIONS" listed on the reverse sid	C 4 2 C C T 4	X (If Any)	-0120	
\$\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	TOTALC	ARGES	866=	
7			ο <i>ι</i> /	
PRINTED NAME James W. Kowland	DISCOUN	T. 4/ -	<u>&gt; / IF P</u>	AID IN 30 DAYS
() ~ \psi \ ,		#2470	8. 9G	DE
SIGNATURE Toms W. Kowlad			-	REC
		and the second s		
V V		de la companya de la		FEB

KCC WICHITA



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(817) 546-7282

Fax: (817) 246-3361

#### Bill To:

Hondo Energy 5472 S Ventura Dt. Centennial, CO 80015

## INVOICE

Invoice Number: 128810

Invoice Date: Oct 4, 2011

Page:

1

Customer ID	WelliName/#.or/Customer/P.O.,	Raymen	riems) 💮 📆
Hondo	Melissa Ann #1	Net 30	Days
Job Location	Camp(Location)	Service Date	Due Date
KS1-03	Liberal	Oct 4, 2011	11/3/11

Quantity	tem (200	Description		Amount
		Class A Lightweight	14.50	2,900.00
200.00	SER	Handling	2.25	450.00
100.00	SER	Mileage	22.00	2,200.00
1.00	SER	Plugged to Abandon	1,250.00	1,250.00
200.00	SER	Heavy Vehicle Mileage	7.00	1,400.00
200.00	SER	Light Vehicle Mileage	4.00	800.00
1.00	CEMENTER	Bob Ryan		
1.00	EQUIP OPER	Cesar Pavia		
1.00	OPER ASSIST	Ruben Chaves		
	ŧ			
	•		1	0.000,00

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE Oct 29, 2011

Subtotal	9,000:00
Sales Tax	657.00
Total Invoice Amount	9,657.00
Payment/Credit Applied	
TOTAL	9,657.00

RECEIVE FEB 2 7 2012 KCC WICHITA

# ALLIED CEMENTING CO., LLC. 036545

REMIT TO P.O. I		NSAS 6766	55			SER\	ICE POINT:	BERGL KS
104-11	SEC	TWP.	RANGE 4/W	CALLED	оит	ON LOCATION	JOB START	JOBEINISH SICO AN
MELLISA		700		<del></del>			COUNTY	STATE
LEASE AND	WELL#		LOCATION (		<u> </u>	1-11	Hamilai	
OLD OR NEW ()	ircle one)		NER	c/ 3/	Ph.C	U Steloc		
CONTRACTOR	100	del	#701	OWI	NER S	Ann F		
CONTRACTOR TYPE OF JOB	1911		201	<u> </u>	VLI	100		
HOLE SIZE 73	<u>.                                    </u>		6191	CE	MENT	_		
CASING SIZE	F3/2		PTH /790'	AM	QUNT OR	DERED 20	SK	
TUBING SIZE			PTH		20/4	0 436	ET 14 1	COSFAC
DRILL PIPE 4	12 x 4	/ DE	PTH / &/O *					
TOOL			PTH					
PRES. MAX	<del>/</del>		NIMUM					
MEAS. LINE		SH	OE JOINT				@	
CEMENT LEFT I	N CSG.			GEI	LORIDE _	<u> </u>		
PERFS.	r 2	13 BB	27		CKIDE_	:	_ @	
DISPLACEMENT								
	EQ	ULPMENT	ľ		(17)5	K-TOFT	@ /5/50	2700
		o			و الماليات	- //		
<b>PUMP TRUCK</b>		TER_		<del></del>				
# 377_	HELPE	CEA.	<i>SAR</i>				@	
BULK TRUCK			<i>R</i>					
#456-239	DRIVE	( /Cu					@	
BULK TRUCK	DRIVE	<b>,</b>			<del></del>	-3	-@ <del>715</del>	1/6500
<u>#</u>	DRIVE		<del></del>		NDLING.		_@ <u>ZZS</u>	2200
				MI	LEAGE	5Kx20, x.11		2000
	R	EMARKS:					TOTA	11770
				<del></del>				
					a .	SERV	ICE ·	
	70	1-i1	<del></del>				100	
	1/ PIME	yo	1)		PTH OF J		1010	17500
			<u> </u>			CK CHARGE TAGE	@	78430
						Zoon	@ 7 <i>00</i> 2	Da 14000
			<u> </u>		ANIFOLD		@	
					27 0	h m; Zero	@ (/00	500°
	, /	1						
CHADGE TO:	Hol	U do	ENG					-1/m 00-
CHARGE TO: _	7707						TOT	AL3/40
STREET								
CITY		STATE	ZIP					ran tan
						PLUG & FLO	AI EQUIPM	ADINA .
							@	
To Allied Ceme	enting Co	., LLC.						
You are hereby	requeste	d to rent co	ementing equipm	ent —		······································	@	
			to assist owner o			-,		
			The above work			•	<b>T</b> 07	TAL
			n of owner agent				101	AL
			tand the "GENEI		LES TAX	(If Any)		
TERMS AND	CONDIT	IONS" list	ed on the reverse	Siuc.		O.	(S)	
	- 6	,		T	OTAL CH	ARGES		
PRINTED NAM	ie <u>C</u> a	12 J	501995	D	ISCOUNT	·	IF	PAID IN 30 DAYS
				•			•	RECEIVED
PRINTED NAM	C.D.	60						
SIGNALUKE _	W	W 15	my)					FEB 2 7 2012
							K	CC WICHITA